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Missing Tern and Filler

(1) In the following question, select the number which
can be placed at the sing of question mark (?) from
the given alternatives.

fFAfafd 92T 7 & 10 fasheut & @ g2 & Reg (2)
F TATST T 31Te aTell T&IT & AT

3 |7 8 [ 3

2 | 4 1 x

SSCCGLO8AUG-S3 : 16
(@) 2 (b) 7 ()14
(d) 28

(2) In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

rafaf@a A A A v AFeai A ua g () F
TYTeT G 37T aTell HEAT &l FAIT|

3 | 17 2 | 16 13

111 4 0] 7 ?
SSCCGL10AUG-S1: 16

(@) 1 (b) 2 (© 3
(d) 4

(3) In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?

_Yyzaa_y _Xxy _aazy _

il geat # 318 1 it |1 g Wrell T T
FHAR TG W &Y TS 78T ST T G FHIM?
_Yyzaa_y _Xxy _aazy _

SSCCGLO8AUG-S2 : 8

(@) xxzzx (b) xxaza (c) xzxzx
(d) aazzx

(4) In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

fArAfaf@a et # 183 710 fawedl # @ 9@+ Reg (?)
o TYTe T 37T alell §E&AT 1 giAv|

SSCCGLO8AUG-S2: 16
(a) 108 (b) 112 (c) 118
(d) 120

(5) In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?
e ooaT 31 31&RT T hleT AT Fafg Well TUTAT T
FHAR TG Y & 978 & AW hT G HM?
efg __eff _ghhe _eff _gggh_h
SSCCGL11AUG-S3:8
(a) eghhfe (b) ghhhh

(d) hgefhe

(c) hegefh

(6) In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

rAfRRT g A v s R A AT RE () &
TYTT I 3711 aTell HEAT I IfAT|

20 (72 90

236‘}3

SSCCGL11AUG-S3 : 16
(@) 112 (b) 144
(d) 186

(7) Select the missing number from the given
responses

few 91w et 7 & ova wear g

23| ? |12

613|7

138(117|84

3 5

[4]88] 7] [2]1046] |T
5 3

SSCCGL21AUG-S3: 16
(b) 13 (c) 17
(d) 15

(8) Select the missing number from the given
responses:

few 91T et # & oo wear g
3 |45 | 105

12
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SSCCGL22AUG-S2 : 16
(@) 112 (b) 98 () 15
(d)5

(9) In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

AT weatd 63 1T faeshodl 7 @ weet et (7) &
TT TR 37T el FET T AT

12|13(156)
14| ? (154
15]13[195

SSCCGLO5AUG-S3 : 16
(@ 11 (b) 16 (c) 21

(d) 31

(10) In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?

T gt & 37&RT 7 et T HHg Trell TUT=A T
FHHAR TGl &1 TS T AT T G HIM?

Im_o_ nm_|_n__nml

SSCCGL10AUG-S2: 8

(@) molnon (b) nolmoo

(¢) nomloo (d) noolmm

(11) In the following question, select the number
which can be placed at the sign of question mark (?)
from the given alternatives.

fArafaf@a et & v v erear & @ e Rest (7) &
TR IX 37T aTell HET 1 G|

6 ]9
93| 7] [8]65

9 6

SSCCGL10AUG-S2 : 16
(a) 4 (b) 6

(12) Select the missing number from the given
responses

few aTT faremerdt 7 & U H@AT 9T
1004212

721315

81513

SSCCGL17AUG-S1: 16

(@ 9 (b) 1
(d) 2
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(13) In the following question, select the number
which can be placed at the sing of question mark (?)
from the given alternatives.

fArafaf@a v # BT Asredl # @ et g () &
TYTeT 9 37T el TEAT 1 AT

T

/ e
1512 | 504

. ? | 168/

SSCCGLO9AUG-S1: 16
(a) 53 (c) 59

(d) 66

(14) In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?

T gt # 78R T it G HHAG Wrell T T
AR IWel Y &7 7S 37ET HW AT T I HaM?
a_bc_a_bcdabc _da_cd _

SSCCGLO9AUG-S2 : 8

(a) acbddb (b) adbcbd

(c) cabddc (d) ddcbbc

(15) In the following question ,select the number
which can be placed at the sing of question mark (?)
from the given alternatives?

@ T H v fAecai Ha mRA g () &
YTl R 3T alell TEIT 1 JAT |

2 3

|1]41]5]| [4]|159]6]| |5

3 ]

3 2

SSCCGLO9AUG-S2 : 16
(a) 189 (b) 227
(d) 339

(c) 277

(16) In the following question, select the number
which can be placed at the sing of question mark (?)
from the given alternatives.

eIfoIT@d U2t 7 fou el 7 & U2 fieg (?) &
TYTT I 3711 QTell {41 I AT

336 | 170 | 748
5253 | 78 | 349
431 | ? 328
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SSCCGL11AUG-S1: 16
(a) 33 (b) 34 (c) 36
(d) 37

(17) In the following question, from the given
alternative words, select the word which cannot be
formed using the letters of the given word.

T aTT g &, ﬁmﬁ@af&wﬁﬁﬁa@%mgﬁa
St foT 31T Qrsc & 378 T TAET hlah A8 ST ST
HhaT gl

REASONABLE

SSCCGL12AUG-S1 : 12

(a) EASE (b) NOBLE

(c) SEASON (d) SOLAR

(18) Select the missing number from the given

response

fow a1w faemedt & & oo wear gfav |

3(2| 625

5/3|4096

412 ?

SSCCGL12AUG-S1: 16

(a) 216 (b) 1024 (c) 1296
(d) 2024

(19) In the following question, select the number
which can be placed at the sing of question mark (?)
from the given alternatives.

frff@d A A v RFcaiAd a fReg () &
T I 3TeA el TEAT T AT

8 |6 15| 2

9 | 2 60 | 2

SSCCGL12AUG-S2 : 16
@3 (b) 4 (8
(d) 14

(20) In the following question, select the number
which can be placed at the sing of question mark (?)
from the given alternatives.

ArAfafad uea & U a0 fadedt & &y fieg () &
YT G 37T el TEAT T AT

3 10 B 186
9 5 3 138
5 7 1 36
3 2 5 ?

Free Study Material Join: Telegram.me/ExamsCart

SSCCGL10AUG-S3 : 16
(@) 35 (b) 42 (c) 45
(d) 95

(21) In the following question, select the number
which can be placed at the sing of question mark (?)
from the given alternatives.

AFAfafEa g2 & & 710 fawedi & @ 9o ¥ f”deg (2)
& TYTe TR 37T el HET T i

3 2 1 2

5 - 7 6

1 7 - 2

SSCCGL12AUG-S3 : 16
(@ 2 (b) 4 (0 6
(d) 8

(22) In the following question, select the number
which can be placed at the sing of question mark (?)
from the given alternatives.
AT et # QU fashodl # & 91 eg (?) &
TYTeT R 3T aTell TEAT 1 AT

2 5
14 9

7 10
i, 14

8 11
20 ?

SSCCGL11AUG-S2 : 16
(a) 14 (b) 15 (c) 17
(d) 19

(23) Select the missing number from the given
responses

few a7 fashent 7 & ofed WA giv |

104| ? |57

87 (78| 9

103|78[25

SSCCGL17AUG-S2: 16
(@) 35 (b) 47 (c) 54
(d) 78

(24) Select the missing number from the given
response

few a7 fshent 7 & ofed T gv |
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[4]22[5] [1]

SSCCGLO9AUG-S3 : 16
(a) 54 (b) 60 (c) 62
(d) 66

(25) In the following question, select the number
which can be placed at the sing of question mark (?)
from the given alternatives.

ArAfafad uea & U a1v fashedt & &y fieg (2) &
TUT TR 37T el FET Y AT

4
315
216
17)?

SSCCGL16AUG-S3 : 16
(@1 (b) 31 (c) 32
(d) 37

(26) Select the missing number from the given
responses

few aTw faemedt 7 @ v Fear gfAv |

23(114[204
45| 25|36
68(89 | ?

SSCCGL17AUG-S3 : 16
(a) 157 (b) 168 (c) 21
(d) 15

(27) Select the missing number from the given
responses.

feT I fashedt & & ofed HEar gfav |

137117
17 (23|19
2217|323

SSCCGL18AUG-S2 : 16
(a) 30 (b) 102 (c) 29
(d) 161

(28) Select the missing number from the given
responses.

U a1v faehedl & & oo HEar giav |
21[27] 29
? [96[142

57169(113
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SSCCGL18AUG-S3 : 16
(a) 46 (b) 69 (c) 29
(d) 78

(29) Select the missing number from the given
response

few a1w faemedt & @ v wear gfav |

3l4/2|14

6|5|4(44

52|71 ?

SSCCGL18AUG-S1:16
(a) 58 (b) 14 (c) 49
(d 4

(30) Select the missing number from the given
responses.

T a1v faehedl & & oo Har giav |

102|89| ?

87 145[25

15 44|50

SSCCGL19AUG-S1: 16
(@) 13 (b) 25 (c) 75
(d) 15

(31) In the following question, select the number
which can be placed at the sing of question mark (?)
from the given alternatives.

fAFAtaf@d ueat # feu 910 fashedt # @ g2 feg (7) &
TYUT TR 3T Tell TET Y AT
9 6 8 2 ‘ 7 3 \

17 68

SSCCGL16AUG-S1: 16
(a) 48 (b) 52 (c) 55
(d) 58

(32) In the following question, select the number
which can be placed at the sing of question mark (?)
from the given alternatives.

f@d T A v fGeecai Fa A g () &
YT I 3TeA el TEAT I AT

1 7 6 56
1 4 | 8 | 45

2 3 6 7
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SSCCGL16AUG-S2 : 16
(a) 32 (b) 35 (c) 46
(d) 47

(33) Select the missing number from the given
responses.

R a7 Rt 3 & oo we g |
117 | 28 | 145
35 ? 111
211 [ 11 | 222
SSCCGL19AUG-S2 : 16

(a) 39 (b) 76 (c) 146
(d) 333

(34) Select the missing number from the given
response

U 1w faehedl & & oo HE&ar giav |
111 | 314 | 205

34 | 39 | 102
? 275 | 103

SSCCGL19AUG-S3 : 16
(@) 172 (b) 75 () 77
(d) 170

(35) Select the missing number from the given

response

R are e 3% & oy T g |

216(16[49
3147
6127

SSCCGL20AUG-S1: 16
(a) 42 (b) 56 (2
(d)5

(36) Select the missing number from the given
responses:

few a7 fashedt & @ ofed dEar giav |

18905

13[143[11

7] 25

SSCCGL21AUG-S1: 16

(a) 12 (b) 2
(d) 35
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(37) Select the missing number from the given
response

few a1w faemedt & @ v wear gfav |

116(94]135

211787

95 147|148

SSCCGL21AUG-S2 : 16
(a) 48 (b) 47 (c) 144
(d) 94

(38) In the following question, select the number
which can be placed at the sing of question mark (?)
from the given alternatives.

fArafaf@a wea # fev Asedl # & et e () &
TYTeT O 37T dTell TEAT 1 JfAT|

3 4
|2[31][1] [2[145]6] |1
5 3
SSCCGLO5AUG-S1: 16

(a) 43 (b) 49 (©) 59
(d) 71

(39) In the following question, which one set of letters
when sequentially placed at the gaps in the given
letter series shall complete it?
TAAATATET TR0 A &R 7 it /T HHg Wrell AT
U AR TG &Y 978 & AT hT I HM?
a_caab_a_bcaab_a _b_a
SSCCGLO6AUG-S3 : 25
(a) cbacba (b) bcacac (c) acbaca

(d) bbacaa

(40) In the following question, select the number
which can be placed at the sign of question mark (?)
from the given alternatives.

Arfafad uea & U Aehedl # & ueet feg (7) &
TYUT TR 3T Tell FET hY AT

716

3
2151
81914

115[273)?

SSCCGLOBAUG-S1: 16
(a) 14 (b) 15 (c) 16
(d) 18

(41) Select the missing number the given responses

few a7 fshent 7 & ofed wEar giAv |

91[299493

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com

2123129

7113 (17

SSCCGL23AUG-S3 : 16

(a) 13 (b) 17 (c) 84
(d) 98

(42) Select the missing number from the given
response

U 1w faehedl & & oo HEar giav |

? 105|196
13| 1512
5(71|8

SSCCGL20AUG-S2 : 16
(@9 (b) 201 (c) 65
(d) 101

(43) select the missing number from the given
responses

feT 91T fashedt & @ ofcd H&am giav |

16| 17|28
2123 |27
? 1391|756

SSCCGL22AUG-S3 : 16
(a) 377 (b) 351 (c) 336
(d) 306

(44) Select the missing number from the given
response

feT I fashedt & & ofed HEar gfav |

45111

12|01

57|111f?

SSCCGL23AUG-S1:16
(@0 (b) 68
(d) 10

(45)
Select the missing number from the given responses:

U a1v faehedl & & oo HEar giav |

53 125
1014{10000
215 7?

SSCCGL22AUG-S1: 16
(a) 80 (b) 7
(d) 32
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(46) the missing number from the given responses:

few a1w faemedt & @ v wear gfav |

194/100| ?

215|113(79

2111329

SSCCGL23AUG-S2: 16
(a) 50 (b) 94 (c) 25
(d) 47

(47) Select the missing number from the given
response

few arw faemedt & @ v wear gfav |

13434100

117(86| 31

87]7|64

SSCCGL20AUG-S3 : 16
(a) 120 (b) 23
(d) 30

Answer Key

1 1C|2 [A[3 |C}4

6 |C|7 [A]8 [C|9

11(A|12|D[13(B|14

16|C|17|C[18|C|19

21(B(22|B|23(B[24

26|B|27

31(D(32|D|33(B|34

36|D|37|B|38|D(39

Nim|n[n(g|m|wm|[>|O
O/manjfm(>|m|w|[N

C
B
C
B
28(D|29
B
D
C

41]Aj42|Cl43|Cl44

>|>|O(O|m|m[A[>|O
IR AR

46|A]47
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Solution:
M
7x3%x2x4=168,
8x3x1x7=168
Similarly, Tx6x2x14=168.
hence 14 is the correct answer.

2

3+17+4+11=35
2+16+10+7=35

So, 6+13+15+1=35
So, 1is correct choice.

“
(4+7)x (3+5) =88
(2+6)x (5+8) =104
(7+8)x (5+3) =120

©)

efg h/ e eff g ghhe/ e eff f gggh h h

(6)

(2+3)x[(2+3)-11=20
3+6)x[(3+6)-1]=72
B+7Nx[3+7)-1=90

9
=110
5

(7 +6)x [(7 + 6)-1] = 156

(7)
Here, 23x6=138. So,12x7=84.

(8)
12x3=36
9x5=45
7 x 15 = 105

12 x 13 =156
14 x 11 =154
15 x 13 =195
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(10x2)-(4 x2) =12
Bx1)-(5x1)=3
(10 x 3)-( x 3) =15

(13)

56 x 3 =168
56 x 3: =504
56 x 3: =1512

(14)
aabcd/abbcd/abccd/abcdd

(15)
(1x2x5%3)+(1+2+5+3)

(16)
(7x4%x8)—-(3x3x6)=170
Bx4x9-(5%x2x3)=78
B3x2x8)—-(4x3x1)=36

(17)

SEASON There is no double ‘S" in the given word.

(18)
3+2=5=625
5+3=8:=4096
4+2=6:=1296

(19)
8x6x2=96
15x2x2=60
4x5x6=120

(20)
3x10x6)+6=186
9x5x%x3)+3=138
5x7x%x5)+1=36
3x2x5)+5=35

21
3+2+5+4+147=22
1+2+7+6+4+2=22
24+1+3+11+1+44=22

(22)
245=77+1=8
5+5=10,10+1 =22
14+5=19.19+1 =20
9+5 =14, 14+1 =15

(24)
(4x3)+(2x5)=22
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18 x 5=90
13 x 11 =143
7 x 5=35

13 x 17 =221
7 x 23 =161 (37)

17 x 19 =323 95+21=116
48+87=135
47+47=94
(28)
57+21=78 (38)

69+27=96 The pattern is
113+29=142 (3x2) x (5%1) +1 = 31
(4x2) x (3x6) +1 = 145
(30) (2x1) x (5x7) +1 =71
102=87+15
89=45+44 (40)

75=25+50 7x2x8+3=115
6x5x9+3=273

(31 Similarly, 3 x 1 x4 +3 =15
%:+6:=117
8:+2:=68 (42)
7:+3:=58 15 x 7 =105
12 x8=96
(32) 13 x5 =65
(1+7)x(1+6)=56
(1+4)x(1+8)=45 (43)
(2+3)x(2+6)=40 17 x 23 = 391
28 x 27 = 756
(34) 16 x 21 =336
111-34=77
314-39=275 (44)

205-102=103 Adding the values in columns we get 1+1 =2

(35)
6:=216 (45)

2:=16 5:=125
7:=49 10:=10000
25=32

(36)
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